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Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section-A 8x2=16
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 2 marks.
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1. (1) Define genetic drift.
TSI =87 i GRS it |

(ii)) In the absence of ........ ) e and ..........

gene frequencies would remain constant

during evolution.

Edl © (SFETTd S H)

(ii1) Selection can be classified into three. Name

them.

T B AT TRR H e fEA S HEar )
™ fafem |
(iv) Enlist the importance of meiotic drive.

Tqfeh gEa HI Hewl ol FElog hifad |
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(v) Who gave the genetic diversity index ?

sTaRTe fafaud gewes feem gfqafea fean 2

(vi) What do you understand by the term founder

effect ?
TEH JUE H T F TE § 2
(vii) Write the full names for RFLPs, RAPDs,
ALPs and ISSRs.
= =1 @ AW fafe .
RFLPs, RAPDs, ALPs @ar ISSRs.

(viii) Differentiate  synonymous and  non-

synonymous substitution.

el gfqe T 9 TR-ugigersl gfaeer T i
faafca i)

Section-B 4x8=32

(Short Answer Type Questions)

Note -— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 8 marks.
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2. How can you explain the process of Inbreeding
depression ? Give appropriate example to explain

its mechanism.

TS e ! 39 fohg TWE THem Wehd § 2
Staa STl ¥ s9l feafafy susmew)

3. Describe the three aspects of ecological Niche.
Tifeafaent e & @ SAAM B AR HITST |

4. Compare the three models of speciation.
YR T A YEU ®t e B |

5. There are six types of graphic representations.
Name them and enumerate any oze.
HA B: We B Witheh 890 qC 4 &1 SAH AW
fered gu fRet weR st =men it
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6. The length of 4 larvae of an insect was recorded T T § 9fq ShE 999 H Hew hl Fiel w1 RER

as 2, 3, 4 and 5 cm. Now calculate AM, GM and FI T@ TN TE Hew gN fed ®ie wosied
HM and establish the grater value in terms of RLUICHIE
relationship. wiel st G& Ueehi ol W&
T I & AR @& H dEE HAIM: 2, 3, 4F 5 70-90 40
i ®i M1 R AM, GM @ HM =1 T0AT hifsg 90-110 55
qen 2feres e & grery @l wIfud e 110-130 60
7. In an experiment frogs were observed to prey an 130-150 70
insects in unit time. Calculate the number of 150-170 100
insects consumed by a frog on an average : 170-190 65
No. of Insects No. of Frogs 8. What is hypothesis ? What is type-I error and type-
70-90 40 IT error ? Explain.
90-110 55 uftehea T Fm § ? @9 9 ewrw-ll gfe wm ¥ 2
110-130 60 e
130150 -0 9. Explain chi-square test with the help of an
illustrative example.
10170 100 FE-T TH H TH A SRR B GErFar o
170-190 65

HHLART |
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Section—C 2xX16=32
(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit

your each answer maximum up to 500 words.
Each question carries 16 marks.
gug—H
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sToRa Al (Fm gfgman) == o1 foaom §1 a8 wrgeX
#1 frg NG @ &M W@ § ? 39 i @ dhg
EY ASTRI T ST Hd AT T T ? S0 S |

12. How image analysis system plays important role

in biomedical sciences ?
Bfa fagaisor yomedt =1 Safafewa fagm # g gor
e AFEH § ?

et .- fordl S wel & S SIfST) 1Y ot SIR R Stfiehan
500 v # OREfH RISC Gk T 16 Sk A for usualization of biomolecules.

& g Aust w g W H ST @ 9 SiRa
10. What is Kurtosis of Poisson Distribution ? Prove R T T e fafem |

13. Write an explanatory note on tools and software

that the sum of the probabilities of the binomial

distribution on is unity.

gres oo § geifaw w1 ¥ 2 fag =it i fgwe
foraor # gryreTstl 1 AN TH el ©

11. There is a lot of discussion about Al (Artificial

Intelligence) these days. To which generation of
computer it belongs and what are the advancements
in this generation which has made day to day life

easier. Cite examples.
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